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53-L Let X; and X, be independent Poisson ran-
dom variables with respective means A, = 2 and
Az = 3.Find

(a) P(X, =3,X; =3).
() P(X, + Xp=1)

HinT: Note that this event can occur if and
onlyif {X, =1,X2 =0} or {X, =0, X, = 1}
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533 Let X, and X; be independent random
variables with probability density functions
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filx) = 26,0 < x < 1, and fa(xa) = 4,
0 < xp < 1, respectively. Compute

(@) P(05 < X; < land04 < X, < 08).
() E(X2X3).





31 Let X, and X; be independent Poison ran
dom variables with respective means Ay = 2 and
o= 3 Find

@ P =3
® P, +

HiwT: Note that this event can ocsur i and
only il (X, = 1.0 =0} or (X = 0.5, ~ 1)

S33.Let X and X be independent random
Bles with ‘probabily density functions

20,0 < 3 < 1, and filaz) = 4l
sy, Compite

(@ P05 < Xi < 130d04 < X; < 08)
®) E(XX).




